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Instructions for the candidates:

1. TSRl qur g o e o @ G @)
Candidates are required to give their answers ia ther own words as far as praclicable

2. e siv elnd gy R gy siw qute e wvd &
Figures in the right hand margin indicate full marks.

3 §F ¥ UF B AAYES 087 B 15 e @ iR e Rar v @

15 Minutes of extra time has been allotted for the candidates {o read the qguestions carelully.

T8 JF-99 T @UST H E @ - J (T @vs — 7

This question paper is divided into two sections - Section - A and Seclion- B

5 T - H 35 FGhT e & ol me st &1 (w3 B 1 s R ) sTer g
FYcrE] F¥ T} OMR -TT 3% 3§ 02 13 Wl g @i et A ar d w wwy e
FPR & FIECT,/ T YRl S,/ TGT R F1 GOw qRawr F gan Fen s @
ST G GV ST ET )

In Section ~ A, there are 35 objective type questions which are co mpuisory, each carrying 1 mark. Darkan
the circle with blue’black ball pen against the correct option on OMR Answer Shes! prowded (o you.
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheel; otherwise the result will be invalid.

6. @S~ 7 5 18 o7y IO 7% & (1T @ [V 2 @ el &) R @ e 10 gvF 7
CHY & G &1 FT SRT §9 @ve 3 6 A gwdy gvr 2} wh # A s
e [Feited £)) for w 5 3 gt a1 G @ sPd &4
In Section - B, there are 18 short answer type questions (each carrying 2 marks). out of which any 10

questions are to be answered. Apart from this, there are 6 Long Answer Type questons (Each Carrying
5 marks), out of which any 3 questions are to be answered.

7. [ qER & Feiagiing Gyawe w1 g qela afiT @

Use of any electronic appliances is strictly prohibited.

&
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wug -3/ SECTI

ON-A

E@ yei /Objective Type Questions
v @E 81 I

mmr#xaﬁa}mma}wwﬁmﬁvwéfwﬂ
grT % 70 e ey @ OMR - ¥ie T RifET w1

. our
only one is correct. You have to mark, y

Question No. I to 35 have four aptious, out of which
option, on the OMR - Sheet.
U CHs ¥ (o) Rrmr aeli @t e @-

(AY 4

© 2

Number of (6) sigma bonds in CHs is -
(A) 4
(C) 2
2 R T e s & -
A)  H™EEE
(C)  BerEe

Chief ore of Iron is -
(A) Magnetite

(C) Haematite

(B)

(D)

(B)

(D)

(B)

(D)

(B)
(D)

(35X1=35)
selected
(35x1=35)

Siderite

All
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3
(A) W R ®) A
€ e (D)  whifts
Over production of acid in stomach can be controlled by -
(A)  Antacid (B)  Analgesic
(C)  Antipyretic v (D) Antibiotic

4. FEEEge W TAlE fER O ¥ daR 3w A AIWES PR TIH FH 8, IH FE T

% B Lo
A)  AF-evES _ (ﬁ) SIES RS
€) fem—devEs - D) die-dawEs

Carbohydrate which yields three to ten mono saccharide units on hydrolysis is called -
(A) Monosaccharide ' (B) Disaccharide
(C)  Oligosaccharide D)  Polysaccharide

A g, e eret foene o @ 5w o § qga 2 ¥

(A) en (B) &
€ e D) SN

Ammonia changes the moist red litmus paper into - |
(A) Blue (B) Green
(C) Black (D) White
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(A)  wwoiEn) an v

()  waRm o )
Dettol is used as -
(A) Disinfectant (B) Antiseptic
(C) Antimalarial (D) All
7. verhEid W ved @ s egort w R 9 g wRwenfi R S ¥
(A) SR yu )  uieEws M
)  wnatffas Iu (D) R P

Alcohol is formed when one of the hydrogen of Alkane is replaced by -

(A) Hydroxyl group (B) Aldehyde group
(C)  Carboxylic group (D)  Chloro group
/8./ TehElel &1 fhardia e § -
(A) — COOH : (B) — CHO
(D) — OH

©) -C=0
|

The functional group of alcohol is -

(A) — COOH (B) — CHO
- |

A g iR el BRERE & -
(A) AYHY (B) RIS
(C) umiIR® (D) RIS
White and yellow phosphorous are -
{(A) Allotropes . . (B) Isomers
(€) ° lsobars (D) Isotones
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(A) ury (B)
©  Suurg ()
Nitrogen & Oxygen are -

(A) Metals (B)
(©) Meltalloids (D)
1. =[AT - N qot &7 —-S 2 -
(A) WHfs v (B)
© Rww D)
Buna ~ N and Buna - $ are -
(A) Natural rubber (B)
+ (O) Latex (D)

A e § o @ N v wonftes 82
(A)  FRA (B)
(€ R (D)
Which of the following gas is mono-atomic?

(A) Chlorine (B)
(C) Nitrogen (D)
A3 @ IR e R et & R B 2
- (A) 96550 | (B)
(C) 96000 D)

G|

g 8

Non - metals

None

Hyafta wav
giferei=

Synthetic rubber
Polythene

Biferam
AT

Helium

Oxygen

96500
95500

One Faraday electricity is equal to how much Coulombs?

(A) 96550 (B)
(C) 96000 D)

96500
95500
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(A) CuHaOn:
) CizH:Oq {".'l

CizH2:0n

Formula of sucrose is -

(A) Ci:H2:04; (B)

(C) CuzHaOn (M CixH» 0w i \
& i @ A TGRS

Wﬁ%mﬁtm:mmwﬁmaﬁmnﬁm

15.
& e d -
(A)  wH (B)  WIaH
© B o
A process of heating ore of a metal in excess of air below its melting point is called -
(A4) Roasting (B) Smelting
(C) Calcination (D) All
~~16. CH:COOH T [UPAC M & — |
(A)  feFEs s (B)  3UAIEE
(C)  WEHIES () R
TUPAC name of CH:COOH is -
(A) Methanoic acid (B) Ethanoic acid
(©) Propanoic acid (D) Methanol
17. arad aRolt @ g srad A aal @ e @ -
A) 2 B) 8
©) 18 _ (D) 32
Second period of periodic table contains elements :
@a) 2 (B) 8
D) 32

(€ 18
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(A) SO» (B) SO

(C)  H:S D psol

Oleum is composed of H2SOs and which constituent?
(A) SO; (B) SO;

(C) H:S ' (D) HSO

AY. Ku[Fe(CN)s] § Fe @1 sifafiaor we & —
@A)  +2 B) 43

(©) -2 (D) -3

The oxidation number of Fe in Ki[Fe(CN)g] is -

& 2 . ®) 43
© - @ -3
8. i g F1 ea Frafoled F @ fhw Ry gr fear s 82
(A) g SEE e B)  ved gRepor

(C) aviRael D) B T

Copper metal is purified by which of the following method -

(A) Electrolytic refining (B) Zone refining
(C) Chromatography (D) None -
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KalFe(CN)o] is a1 -

“ Pouble sal (") Complex compound
) Common salt

(C) Acidic Salt

/}2. CHAaCH:NH: B @sgr w1 & —
(A) genge ¢ (B) Murgel A
(C) ferrger ofia ) o

CH3iCH:NH: is known as -

(A) Ethyl amine (B) Propyl amine
(C) Mecthyl amine (D) Ammonia
23. H:SOs2 U&F -
(A) fenRed st (B) Uhd HIRAP 3%
(C) Tl AT (D) g ey e
H2SOsis a-
(B) Monobasic acid

(A) Dibasic acid
(D) Di acid base

[(®) Mono acid base

Page 8 of 16
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24, NH:¥ N o1 waww @ -

(A sp (1) S

() sp M s’

The hybridisation of N in NHs s -

(A)  sp’ B sp?
© s D dsp?
25. Mo o1 g & -
\._,(A{ He (B) Hi
(€) Hm 1 ) B
The symbol of Helium s -
(A)  He (B) Hi
(C©) Hm D) Al
26. aﬁﬁwﬁla%gqj%aa’rﬁmw%-
wA) R uRg | ®) & e g
© g | @) =

Group I elements of Periodic Table are known as -
(A) Alkali metals (B) Alkaline earth metals

(C) Inert gases (D) None |

[118] H
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— wfe U
(A) s — il o (B) P
) - Wi
JC) d— @fe 79
Transition elements are also known s -
(A) s — block elements (B) p - block clements
©) d - block elements (D) - - block elements
A8 OH#frs 1 am § -
A) T eEEEES (B) fta
(€ g (D)  AEA ohIETe
The name of the compound  QH is -
(A) Benzene hydroxide (B) Phenol
© Phenyl (D) Benzyl Alcohol
29, difteh v a5 & -
@ w ®) w0
(») m Gal (D) AT BT
Polythene is a polymer of - |
(A)  Ethane (B) Ethene
(C)  Propene ®)  Ethyne
[118]H
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JA) HNO;

(B) HxN2Oa
(C)  HNO; (D)  HNO:
The formula of Nitric acid s -
(A) HNO, (B) H:N:0:
(C) HNO, (D) HNOs

A Ug 5§ B pH gy ¢ -

(A) 1 (B) 4
(C) 3 W) 7
pH of pure water is -
(A) 1 (B) 4
(C) 3 (D) 7

A2 FeEfafaa 3 4 o &t om | e a8 A o aed 27

(A) O: B H:S
(] 50; 1)) N2

Which of the following gas cannot be collected over water?

e
(A) 0: ' (B) H2S
{§)] SO, (D) N»
[118] H
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Ay oifrNmiRe (") HABH
() ARNBRSG v Mg Q)0 " ad ot

PCls is & -

(A)  Oxidising agent (B)  Reducing agent

(C) Oxidizing and reducing agent both (N None
M. mRe wd darR fbar s @ -

(A) s R (B)  airearss fafy
(C)  WaTY HYeyo M) R ff

Nitric acid is prepared by -

(A) Contact process (B) Ostwald’s method
(C) Photosynthesis | (D) Haber's process
A SR P FFE D R IuErh @1 B oFEd & -
NV | B) e
€  y (D)  FE T

Drug used to reduce fever is called -
(A) Antipyretic (B) Analgesic

©) Antacid (D) None
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UTs -3/ SECTION-B
R-x Y¥1 / Non - Objective Type Questions

Y 99T U¥1/ Short Answer Type Questions

T Ty 4 #:aayaﬁ#ahwmwa?ﬁtra?z!;rrﬂamﬂhvzaﬁﬁ?ﬂfﬁ"’
&

(10x2=20)
Question No, | 45 18 are short answer Iype.

Answer any 10 question. Each question carries
2 marks.

(10x2=20)

1. meﬁﬁ%-&ﬁmmg? (2)
What do ‘-"U mean by point defect in a crystal?

2. Wdﬁaﬁa?mmmgj} 2
What do you mean by Primary cell?

3. m&mwém%a‘t%@ (2)
wte first law of Faraday's law of electrolysis.

4. hfrm @ e H amen 5y (2)

Explain order of reaction.

S. 9% HNO; &t Uegiiftm ura % wue o & wai? (2)

Conc. HNO; is stored in Aluminium vessel, why?
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6. Sk, #nen fouw Kep, A& ol

Sulphur forms SEe but not $CL., why”

A o wo @ AT 45
-?‘ Cﬂf?ﬁ {'('ﬁtii’.) [(‘U[N“'lﬁi" A Cu ‘_,f:; _'_fr;ﬁ_lﬁ‘;l.. FoEE
oy MO NE ]
Find the uxidation npumiber of Cy 10 the comples jou R LE
Vi

8. &mrenfan 8 aufes Uy @ T A |

Name the clement present in Hemoglobin.
9. BOD 3R COD % #N @1 wagg 27

What do you mean by BOD and COD?

4

10. THEF & vHae T 57

Write the monomer of Teflon?

i

11. 3FH 309 a1 #7 Z

What are amino acids?
12. 3

0
Il LiA%H
R—C—NH: —_—y o
HO el @ vt e -
Complete the reaction -
i
R-C-NH, —Z4%,,
" B,0

18] H
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13. T=Ea s SN A wwes oy g A 2

Alkyl amine is stronger bise thay Ammaoniy, Why

1. 5o 2ma m g

w9 | (2)

Define Osmatic Pressure,

15. oy am @ (2)

What are Enzymes?

16. ﬁﬁ1ﬁ€ﬂaﬂaanzﬁmﬁataﬁ?

(2)

Silver is a Good conductor of electricity. Why?

17. mmmﬁmma

2)

What are ideal and non-ideal solutions?

18. m%%mwﬁmﬁsm%mmﬁ?

(2)

What are the advantages of using Cryolite in the electrolytic reduction of alumina?

[118] H
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A uadiy yE/Llong Answer Type Quostion™ 5 AT
o @ e e B T

vy e 19 @ 24 d QO gl wed # g
(3)(5-1-”15)

jon carries § marks

rwRe &1 R s ava) @ gav 34

Question Nos. 19 1o 24 are long Answer Type Questions. Each ques! (3x5=15)
Answer any 3 questions. . (5)

19, waael e al ufdan 37 &Y Ayl @ o) i el @1

Define osmuotic pressure. Prove that osmatic pressure is & colligative property. 5

wem DR SRR @ aiera AR R (3

Find the expression for first order reaction.

ffarge O Pt Fraed @ R o i N ford)

Write in brief how’ Aluminium is extracted from Bauxite?
(5

33, 1 a1 & W9,
A vdRke ) Biel dgw 3 Wy ™ fFar o 87

dferaw Talss & oo QA FRfEET BREr wran 3?

()
(b)
What happens when-
(a) Sodium acetate is heated with soda lime?

(b)
ST B T ST T E? T IR urE § DY wiw far o 27

What are the main sources of lodine? How it is extracted from sea weeds?

Calcium carbide is allowed to react with water?

(5)

24, @91 BT & e — (5)
(a) ez Bife B a9 T A 87

(b) M, smfaar | sififsar wvar 87

What happens when -

(a)  Calcium formate is heated strongly?

(b)  Methanol reacts with ammonia?

S
- - -
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